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Stage 3

© Simplify the following.

(D) 2xmxnxm

(2)3x—ax—axb

(B) mx5x—nx—-nxm

(4) xXyX —yXyx2X—x

(5) —cxdXxcxdx—-7X%Xc

© Simplify the following.

(6) 5x—ax—-bxb

(7)) —4 X —cx—-cxd

B px6X—pXpX—qX—q

(9) gxhx—-hxgx8x—g

(10) — fxfxdxdx—4x—d




© Simplify the following. © Simplify the following.

(1) mx-2xX-3xXx—-mxXnxm (16) —7Xxbx5x—-bxdXx—d
(12) 6ax b x —a x —b X 5a (17) 7m X —m X —m X n X 2m
(13) —10m X =5nxX—mxnXxXn (18) —10s X =2t X —t X s X —t
(14) x X —x X =3 X x X =2y (19) —x X —4x X —=5XyX =2y

(15) ¢ X2cx—dx—-3dXxdXx—c (20) hx 6k X —h X —4k X —k X h




© Simplify the following.

(21) 5xax—-2xbx3X—-axbxXc

(22) mx —2nX3p X —2nX —p XnXm

(23) —2x X =3y X —4axx X 2x X —a

(24) 2ax —3cx4b X —bXaX—-5cXa

(25) 2rx =3gXrx5pXpXqgXxX —2pXrXxq

© Simplify the following.

(26) 8g XhX —3XhXx2X—-hXfXf

(27) 4g x —2f X =3f X 5g X h X5f X h

(28) —4cx—-2bx—axaXxbx-—-2c

(29) mX —4n X 2p X —=2p X m X n X 3m

(30) 2y Xx XzX—xXyX3yXxXzX2z




© Simplify the following. © Simplify the following.

(31) ax —=3bx2a?xXb3XcX—cXc (36) a* x —b x 2a® x c3 x b x —2a X b3
(32) 3n?x —5a®x—nxmx-m?xa (37) 3n? x —=5a3x —nxmx-m?xa
(33) 2bXx 3¢ X —b3® X ¢? x —b x d? (38) 2f x4g x —f3x g>x —3h x h3
(34) m3 x 2m? x —2p? x —n® X p X —n’ (39) x3 x 2y? x =322 x (=x)% xz x —y®

(35) 4a® X (—a)? X (—=5¢)? X b® X —c X —b (40) 2k3 x (—=2j)? x (=3h)2 x k5 x —j X 2h




